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Auswertung U12

50m Hindernis RLP) Schlagwurf RLP| Fiinfsprung RLP| Drehwurf RLP Stadioncross

1594 2 2351 3 2492 2 2268 1 14:46,00
1144 8 2119 6 2140 8 1888 7 15:19,00
930 12 1916 10 2047 9 1655 10 17:09,00
1647 1 2609 1 2500 1 2113 4 13:58,00
1387 2244 4 2218 6 2131 15:11,00
1014 1660 14 1902 " 1576 13 15:22,00
1474 2238 2372 4 2182 2 14:20,00
919 13 2008 9 1785 14 1597 12 15:47,00
1253 7 1875 " 2201 7 2087 5 15:50,00
1001 " 1836 12 1878 12 1638 " 16:40,00
1013 10 2037 1944 10 1662 9 16:09,00
1341 2413 2 2318 5 1841 8 15:05,00
1428 4 2114 2389 3 1970 6 14:44,00
766 14 1836 12 1837 13 1171 14 16:56,00
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